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Question Number : 1 Question Id : 151 Question Type : MCQ Option Shuffling : No

Correct : 1.0 Wrong : 0.33

A systemand its environment put together constitute

Options :

. » Anadiabaticsystem

FLRPN ;ﬁﬁlrﬂq"t'\"'-'l mur



- « Asegregatedsystem

, = Ahomogeneoussystem

Question Number : 2 Question Id : 152 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Slope of constantvolume line ontemperature entropydiagramis given by

Options :

- Cp/T
- T/Cp
2w CV/T
Lo Qv

Question Number : 3 Question Id : 153 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Stefen Boltzmanlawisapplicable to
Options :

| » Gray body
, « White body
. » Black body
., « Blue body

Question Number : 4 Question Id : 154 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Heat istransferred by conduction, convection and radiationin

Options :

. « Insulated pipes carryinghotwater
) Refrigeratorfreezercoils

. » Meltingofice

. Boilerfurnaces

Question Number : 5 Question Id : 155 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A fourstroke diesel engine has

Options :
.. Dne valve [ e P i ey ks o




, & Twovalves
. » Threevalves

, » Fourvalves

Question Number : 6 Question Id : 156 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A certain engine produces 10kw indicated power. Its mechanical efficiency is 70%. Then the
frictional poweris

Options :

w2 kw
o« 2.5 kw

3._L_,,E’,kw

. w35 kw

Question Number : 7 Question Id : 157 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Morse testis applicable only to

Options :
. » SinglecylinderSlengines

, » SinglecylinderClengines
. » Multi-cylinder Clengines

.~ Multi-cylinder Sland CI engines

Question Number : 8 Question Id : 158 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The consumable electrodeis usedin
Options :
, « Carbon arc welding

i Submergedarc welding

[

& T1G welding
. v MIG Welding

Question Number : 9 Question Id : 159 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33




Options :

. = Castiron
- = Brass
., Bronze

w

. Stainlesssteel

NN

Question Number : 10 Question Id : 160 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The givenfigure represents

Cutter

y

Options :

.« Up milling

, » Downmilling
- « Climb milling
, = Angularmilling

Question Number : 11 Question Id : 161 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In sand moulding the hottom flask is called
Options :

, « Cope
_, brag

2.
5 « Fillet
Riddle




Question Number : 12 Question Id : 162 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Cast iron pipesare cast by
Options :
@ Die casting process

” @ Centrifugal casting process

- 8 Investment casting process

o Vaccum Moulding process

Question Number : 13 Question Id : 163 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Swaggingisan operation of
Options :
, » Hotrolling

o Forging

- « EXtrusion

, « plercing

Question Number : 14 Question Id : 164 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In Die cutting operation, punching a numberof holesinasheetiscalled
Options :
, « Perforating

4 Parting

M

& Notching

L

L8 Lancing

Question Number : 15 Question Id : 165 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The flow of currentinsolidsis dueto

Options :
|« electrons

, « electronsandions




_atoms

. atoms and nucleus

Question Number : 16 Question Id : 166 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Ohm'slaw isapplicable for

Options :

,  conductors only

, & superconductors only
. » conductors and semiconductors

., semiconductorsonly

Question Number : 17 Question Id : 167 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

"The algebraicsum of all the currents meetingata pointina circuitis equal to zero." This
statementis

Options :
. Kirchoff's Junction Rule

, » Ampere Circuital Law
- « Kirchoff'sloopRule

, » LenzRule

Question Number : 18 Question Id : 168 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In a DC generator, the critical resistance referstotheresistance of
Options :
; « brushes

. field
. armature

[

NS

Question Number : 19 Question Id : 169 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Atransformercoreislaminatedinorderto prevent

Options :

~irrant laal 20N




., eddycurrentsloss

.

. oilleakage

4 = hysterisisloss

Question Number : 20 Question Id : 170 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

HRC fusesona transformer provide protection against
Options :

, » insulationfailure

. & internal faults

- « external faults

. » lowoillevel

Question Number : 21 Question Id : 171 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Buchholz'srelayisusedin
Options :

.« moter protection

, & lineprotection
5 @ generatorprotection

W transformer protection

Question Number : 22 Question Id : 172 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The stator framein an induction motoris used

Options :

. & toprotectthe whole machine

., « toventilatethe armature

—as areturn path forflux
3

. B to hold the armature stampings

Question Number : 23 Question Id : 173 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The startine windimmeTmems




Options :

| » armature

, « field
. rotor

4 o Stator

Question Number : 24 Question Id : 174 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Galvanisingis a processof applying alayer of zincon metal surface. Itis also known as

Options :
.. electrorefining

1. Lo

anoding

Py
oo

. . electroplating

.« cathoding

Question Number : 25 Question Id : 175 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A single transistor can be used to build which of the following logic gates

Options :

. OR
. NOR
, » NOT

Question Number : 26 Question Id : 176 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

\Which of the following expressions represents logical AND gate?

Options :

, A+B
, & A/B
_ . ASB
4. A.B

Question Number : 27 Question Id : 177 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Sithetanrecwhirh ol

o
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Options :
. » Photo voltaicmaterial

, « lightgenerators

. @ thermoelectricgenerators

, & voltgenerators

Question Number : 28 Question Id : 178 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Most commeonly used control elementin voltage regulatorsis

Options :

o BIT
UJT
FET

SBS

4 &
e

Question Number : 29 Question Id : 179 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33
In a differential amplifier, anideal CMRRis
Options :
L infinity
s ZETO

o T1
-1

R

Question Number : 30 Question Id : 180 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

What is the equivalent of decimal 14 in hinary?

Options :

| 1110
, = 1011
Lo 1111

Question Number : 31 Question Id : 181 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33




Options :

-
o =

5. v 4

6

Question Number : 32 Question Id : 182 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Exclusive-OR (XOR) logicgates can be constructed fromwhat otherlogicgates?
Options :

. OR gatesonly
' AND gatesand NOT gates
o AND gates, OR gates, and NOT gates

1

2

L

i OR gates and NOT gates

s

Question Number : 33 Question Id : 183 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The process of mixing AF signal and RF wavesis known as

Options :

.~ modulation

., demodulation

[

.  oscillation

» amplification

iy

Question Number : 34 Question Id : 184 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The main advantage of frequency modulation overamplitude modulationis

Options :
| » thattherewillbenodistortion

& thatthe complete informationiscontainedinthe side bands
» thatitusesawiderband of frequencies

. the elimination of noises

Question Number : 35 Questionl . . 0 A con



If the modulus of elasticityis zero, the material issaid to be

Options :

Rigid
., Elastic
. « Flexible

. « Plastic

Question Number : 36 Question Id : 186 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Water content of soil can be

Options :

,  Greaterthan100 %

> « Lessthan0%

. » Onlyfrom 0% to 100%

, » Neverbe greaterthan 100%

Question Number : 37 Question Id : 187 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The maximum percentage of moment redistribution allowed in RCCbheamsis

Options :

s 10%
. 20%
 30%
L 40%

)

Question Number : 38 Question Id : 188 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Bending compressive and tensile stressesrespectivelyare calculated based on

Options :

, » Netareaand gross area

- » Gross area and netarea

., Netareain bothcases

Gross area in both cases

e

4. = e




Question Number : 39 Question Id : 189 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The liguid usedin manometers should have
Options :
| o Low density

v High density

[

.. Low surface tension

w

» High surface tension

Ni%

Question Number : 40 Question Id : 190 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the followinginstrumentsis generallyused forbase line measurements?

Options :

, » Chain
& Metallictape

[

» Steeltape

o Invartape

LN

Question Number : 41 Question Id : 191 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In a bar chart the vertical axis represents

Options :
L% lime

, i 1YPes of activities

. » Numberoflabours

. Variousactivities of the project

Question Number : 42 Question Id : 192 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Initial settingtime is maximum for
Options :

, » Portland-Pozzolanacement

, « Portland-Slag cement

. . Low heatport




.  Highstrengthportland cement

Question Number : 43 Question Id : 193 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The viscosity of a gas

Options :
1 u Decreases with increase in temperature

» Increases with increase intemperature

[

» isindependent of temperature

% isindependent of pressure forvery high pressure intensities

N

Question Number : 44 Question Id : 194 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In an internal focussing type of telescope, thelens provided is

Options :

~Concave
1.

, = Convex
2 8 Plano-convex

. « Plano-concave

Question Number : 45 Question Id : 195 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Voids ratio of a soil mass can

Options :
. » Neverbe greaterthan unity

s« Bezero

. . 1ake any value greaterthanzero

, » 1akevaluesbetweenOand 1only

Question Number : 46 Question Id : 196 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The main ingredients of portland cement are
Options :

_Limeand silica
1,




- » Silicaand alumina

, » Limeandiron

Question Number : 47 Question Id : 197 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following devices should be used foraccurate measurement of low D.C.
voltage?

Options :

. Smallrange movingcoil voltmeter

, » D.C. potentiometer

_ Smallrange thermocouple voltmeter
3

4 % Hot wire voltmeter

Question Number : 48 Question Id : 198 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A directcurrent can be measured by

Options :

. a D.C.potentiometer directly

. » a D.C. potentiometerin conjunction with a standard resistance

; « a D.C. potentiometerin conjunction with avoltratio box

a D.C. potentiometerin conjunction with volt ratio box and standard resistance

Question Number : 49 Question Id : 199 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Basically a potentiometerisadevice for

Options :
, « comparing two voltages

, » Measuringacurrent

3 & comparing two currents

, « measuringavoltage

Question Number : 50 Question Id : 200 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In orderto achieve high accuracy, the slide wire of a potentiometershould be
Options :
. aslongas posgib




, « asshortas possible

- ¢ neither too small nor too largs
=3 e -

. « verythick

Question Number : 51 Question Id : 201 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Standard resistoris made from

Options :

, & Platinum

5> IMAaNnganasa

« Silver

W

» nichrome

Question Number : 52 Question Id : 202 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In surface water, the colour produced by colloidal suspensionis termed as

Options :
., apparent colour

1.
,  true colour
. « lightcolour

. dark colour

Question Number : 53 Question Id : 203 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The stokes equation used for determination of settling velocity of discrete particle is

Options :

- Vs=g(p—1)d?/18
Ew".js:g( 1)d2/18\’
2w Vs=g( 1)d/18 v
Lw Vs=gd{p,—-1)2/18p

Ps—
Ps—

Question Number : 54 Question Id : 204 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The amount of oxyveen required by microorganisms to decompose the biodegradable

organics 1s called e e T e e I =57




., OXygen demand

. Oxygen deficiency

Mo

. biochemical oxygen demand

L

i chemical oxygen demand

Question Number : 55 Question Id : 205 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The formation of photochemical smog is caused by

Options :

., NOX, CO, HC, O,
. » NOX, CO,, HC, O;
_ . NOX, Pb, HC, O,

.8 NOx, SOx, HC, O

Question Number : 56 Question Id : 206 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The threshold of sound pressure that a normal healthy person can respond to 1s

Options :

0.0002 Pa
, . 0.00002 Pa
_ ., 0.002 Pa
, » 0.02Pa

Question Number : 57 Question Id : 207 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In pre-industrial erathe concentration of carbon dioxide, CO, was
Options :

L ® 200 ppm
360 ppm

s 265 —290 ppm
. » 300 ppm

Question Number : 58 Question Id : 208 Question Type : MC(Q Option Shuffling : No

Carrect + 1.0 Wrano + 0.33 IEx e T e e G I o




Which of the following is not a valid category of impact printers?
Options :

r Daisy-wheel printers

, » Lineprinters

5 = Drum printers
., Laserprinters

Question Number : 59 Question Id : 209 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following is not true about ROM?
Options :

- Random access memory

) & Read only memory
. « Non-volatile memory

. >equential access memory

Question Number : 60 Question Id : 210 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following is a component of Central Processing Unit (CPU)?
Options :

.« Hard Disk
. » Keyboard
- Registers

" Random Access Memory (RAM)

Question Number : 61 Question Id : 211 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Original ASCIl coding scheme uses bits for coding 128 different characters.

Options :




Correct : 1.0 Wrong : 0.33

The binary representation of 129.25is

Options :

. . (10000001.01),
.+ (11000001.01),

_ (10000011.10),
3' L
(10000001.11),

Question Number : 63 Question Id : 213 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Considering X as a binary variable, the Boolean expression X+ 0is equivalent to
Options :

Question Number : 64 Question Id : 214 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The 2's compliment of the binary number (10001100}, is
Options :

(01001000},
(01110100),
(00100111),

> 7

- (11110111),

Question Number : 65 Question Id : 215 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Windows 7is a

Options :
@ Real-time operating system

, « Multi-user operating system

iy Multi-tasking operating system

[T E

3.




. Distributed operating system

Question Number : 66 Question Id : 216 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Class ‘A’ IP addresses use bits for Host ID.
Options :

1, ® 8

Question Number : 67 Question Id : 217 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following is not a Web browser?
Options :

| Opera
, « Netsurf

5 o WWW

4 8 Chrome

Question Number : 68 Question Id : 218 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The R.F. of a scale is
Options :

,w <L
o s = 1

»1

, o any of these

Question Number : 69 Question Id : 219 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following methods is not used for drawing elliptical curves?
Options :

, % oblong method
 tangent method




- « concentriccircles method

.« Intersectingarcmethod

Question Number : 70 Question Id : 220 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Ifa lineisparalleltoV.P.andinclined to H.P., its top view will be
Options :
, « apoint

, w2 line of larger dimension
. @ line of smallerdimension

. « aline of same dimension

Question Number : 71 Question Id : 221 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In first- angle projection method, the relative positions of the observer, objectand plane are

Options :
. » Planeisplaced between observerand object

i Observerisplaced between objectand plane

[

» Objectis placed between observerand plane

L

. May be placedinany order

Question Number : 72 Question Id : 222 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A square laminais perpendicularto boththe reference planes. Itstop and front views will be

Options :

.« thestraightlines
, » thesquares
. » asquareanda straightline respectively

L w @ straightline and a square respectively

Question Number : 73 Question Id : 223 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A5 kg massat rest on a frictionless table is acted upon by a constantforce of 12 N. The distance
travelled byitin2sis

Options :



. B 1.2m
> 2.4m
s v 4.8m

Question Number : 74 Question Id : 224 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The gravitational force betweentwo bodies keptata distance dis proportional to
Options :

3. 1/!’53{2
4 © d*

Question Number : 75 Question Id : 225 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

An object of 10 kg israised through a height of 2m. The workdoneis({ g =9.8 m/s?)

Options :

196 ]

_« 19.6)
XN}

Question Number : 76 Question Id : 226 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following statements about sound andlight wavesis correct?

Options :

.« Both soundandlightwavesare transverse

» Both soundandlight waves are longitudinal

M

& Soundwaveistransverse butlight wave islongitudinal

L

« Soundwave islongitudinalbutlight wave istransverse

NN

Question Number : 77 Question Id : 227 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A beamof lightisincidentonasurface of a rectangularglass slab { ©=1.52 ). If the velocity of

the heam before it enNTR lzing from the slabis




Options :

= 1.97 x 10° m/s
o~ 3X10% m/s

- & 4.56 x 108 m/s
L s 1.5 x 108 m/s

Question Number : 78 Question Id : 228 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Three resistors, each with resistance r, are in seriesina circuit. Theyare replacedbyone
equivalentresistor of resistance R. Which of the following statementsis correct?

Options :
.« Rissmallerthanr

, » Thevoltage across Req ualsthe voltage across r

- « 1hecurrent through R equals the currentthrough r

4 » Thepowerdissipatedin Requalsthe powerdissipatedinr

Question Number : 79 Question Id : 229 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

According to the law of constant proportions, what mass of oxygen would be present in a sample
of carbon dioxide gas containing 3 grams of carbon?

Options :

Question Number : 80 Question Id : 230 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the followingis a process of galvanization?
Options :
. » Mixing of a metal with another metal by melting

, » Coatingthe surface of a metal with Zinc

- Coatingthe surface of a metal with its oxide

,  Paintinga metal

N R R T T SR e e | W/




Question Number : 81 Question Id : 231 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Whichelement hasthe least number of valence electrons?
Options :

;. % Chlorine
v Sodium

., Fluorine

i Oxygen

Question Number : 82 Question Id : 232 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

For the reaction, 2 Na + H, -—> 2NaH, which of the following statements are correct?
i) Naisoxidized ii) H,.oxidized
(iii) H, acts as an oxidizingagent (iv} Naacts as an oxidizing agent

Options :
| (i & iii)

o w (i &il)
o il & i)
g (i &iv)

-

Question Number : 83 Question Id : 233 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following compounds would react with sodium hydrogen carbonate to produce
carbon dioxide gas?

Options :

| . CHs CH,0H
| CH3CHs

_ . CH,=CH,
, ., CH,COOH

Question Number : 84 Question Id : 234 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In which of the followingreactions does NH; act both as an acid and a base?

Options :
Cw NHs + H,0

RILT =S




_ o NH; #HCl = NH, + CI
_ NH; + NaOH ----> NaNH, + H,0

4 &

Question Number : 85 Question Id : 235 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The plant organelles which can trap sunlight are
Options :

& Chlorophyllonly

1

" Chloroplasts only

M

., Mitochondriaonly

L

& Mitochondriaand Chloroplasts

iy

Question Number : 86 Question Id : 236 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following diseasesis not spread by mosquitoes?
Options :
.« Malaria

, & Dengue

. » Filaria

“Tuberculosis
g

Question Number : 87 Question Id : 237 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The flowering plants belong to the group
Options :

2 Angiosperms

~ Gymnosperms

- « Bryophytes

L s Pteridophytes

Question Number : 88 Question Id : 238 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33
Fish has a streamlined body to

o

[ et R T




s balance the body while swimming

. counterthe resistance of water

[

:; gainspeed astheymove forward

W

, » avoid collision with otherfish

Question Number : 89 Question Id : 239 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Landslides and soil erosion are occurring more frequently than before because
Options :
| 8 Climate has changed

_, Forests have been cut

- Rainfall has become scarce

_f Drought has dried the soil

4 €

Question Number : 90 Question Id : 240 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Air enters the lungs due to movement of

Options :
, « Ribmusclesonly

~, Diaphragmonly

' Tracheaand bronchi

- Rib musclesand diaphragm

Question Number : 91 Question Id : 241 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The HCF of two numbersis 12 and their LCM is 72. If one numberis 36, the othernumberis
Options :

0 v 24
L s 48

Question Number : 92 Question s




The largestnumberwhichdivides 81 and 108, leavingremainders 6and 3 respectivelyis
Options :

9

, » 15
_ . 18

Question Number : 93 Question Id : 243 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Ifa:b=4:5andb:c=2:3, thenc:ais
Options :

L »15:8
2% 314
z % 8:15
4% 315

Question Number : 94 Question Id : 244 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

If 3, 5, x, 25 are in proportion, then xisequal to
Options :

5

3 v 15

75

Question Number : 95 Question Id : 245 Question Type : MCQ Option Shuffling : No
Correct: 1.0 Wrong : 0.33

Successive discounts of 30% and 10% are equivalenttoa single discount of
Options :

L= 20%
.« 35%
2 = 36%
. v 37%

uestion Number : 96 QuestionpS S mmsSm S - “—|
Q Question e O e e R




The simpleinterest on rupees 200 for 3 years at 6% per annuminrupeesis
Options :

36

1w

L 18

L 24
48

4. =

Question Number : 97 Question Id : 247 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A sumof money doublesitselfin 4years when the interestis compounded annually. The
numberofyearswhenitwill become eighttimesis

Options :

Question Number : 98 Question Id : 248 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

If C.P. of 12 articles is equal to S.P. of 10 articles, then in the whole transaction there is a
profit of

Options :

&0
=%
L& 9

25

%

0.8 3

. 25%
. »20%

Question Number : 99 Question Id : 249 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

To gain 25% afterallowing adiscount of 20%, the shopkeeper should mark the price of the
article which costhim X 400 as

Options :
& X525
~ F 5aN [P e TS o] o




., X625
, « X650

Question Number : 100 Question Id : 250 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A shopkeepermixes 40 kg of sugar which costs himX 36 per kg with 27 kg of sugar
which costshim 30 perkg. He sellsthe mixture at X 35 per kge. His gain percentis

Options :

.« 10%

Question Number : 101 Question Id : 251 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In twovessels A and B, the milk and waterare in theratiocof 5: 2 and4 : 5 respectively.
The ratioin which these are mixed to obtain new mixture which contains milk

and waterintheratio3:2is
Options :

w716
, » 49136
5 ¢ 1518
., 36:49
4 @

Question Number : 102 Question Id : 252 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Speed of a boat instill wateris 3 km/hr. the speed of the streamis 1 km/hr. The

time takento go4 km upstreamin minutesis
Options :




., » 120

Question Number : 103 Question Id : 253 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

‘A train 100 m longis moving at 40 km/h. The time in seconds, it will take to pass
anothertrain 150 m long which is moving at 50 km/h in the opposite direction fromthe

moment they meetis
Options :

1%56
22‘»8

10

L

15

Question Number : 104 Question Id : 254 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

A and B can do a piece of workin 24 days. If efficiencyof Aisdouble than B, thenin

how many days, A alone can do the same work?
Options :

| s 30
. o 36
60
72

Question Number : 105 Question Id : 255 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

P and Qcan do a piece of workin 12 days, Q and Rin 15 daysand R and P in 20 days.

In how many days Q alone can do the same work?
Options :

;v 20
L 30

60

Question Number : 106 Question Id : 256 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The average of firstfive pnme numbers [s




. & 5.5

Question Number : 107 Question Id : 257 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The average weight of 100 studentsis 46 kg. The average weightof boysis50 kg. If

the numberof boys is 60, the average weight of girlsin kilogramsiis
Options :

% 35
2 40
w45
50

Question Number : 108 Question Id : 258 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Whichterm of AP; 7, 14, 21, 28,... is77 ?

Options :

-

1. :,«.; gi_»ll.
10tk
14th

11

492k

Question Number : 109 Question Id : 259 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The third termof a G.P.is — 3. The product of its first five termsis

Options :

Question Number : 110 Questios




A ladder 15 m longjust reaches the top of a vertical wall. If the ladder makes an
angle of 60° with the wall, the height of the wall is

Options :

L 7.5m

o« N3 M

"

153

-t
=

ot m
I W

, » 10¥3m

Question Number : 111 Question Id : 261 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

From a point on the bridge across a river the angles of depression of the banks an
the opposite side of the river are 30° and 45° respectively. If the bridge is at a height of 3m

from the bank, the width of the river is

Options :

. 243+ 1) m

3(‘-.c"§ +1)m

443+ 1 m

Lo 223+ Dm

Question Number : 112 Question Id : 262 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

If {x-2)isafactorof ax?®+3x%+ 4x+4, then gis equal to

Options :

3

4

-3

L -4

=3
4.

Question Number : 113 Question Id : 263 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

One of the factors of (36x° - 1) + {1 + 6x)%is
Options :

L w BFX




6—x
ox —1
12x

4w

Question Number : 114 Question Id : 264 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

All values of k for which x* + kx +16 = 0 has real rootsis

,8sks-8
-8<k<8
o

k=8

,x k2-8

Question Number : 115 Question Id : 265 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The sum and product of the roots of the equationx® — 4x + 5 = 0 are respectively
Options :

4,5

1

[

45

Question Number : 116 Question Id : 266 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Who discoveredthe searoute to India?
Options :

.« YascodaGama

, « Magellan
s « Diaz

~» Christopher Columbus

W

Question Number : 117 Question Id : 267 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In the medieval timrrise ey,




, « Early Romans
. « Greek Emperors
. » Wandering Arabcamel herdsmen

. & Iribalhorseriders

Question Number : 118 Question Id : 268 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The major cause of topsoil being lost due tosoil erosionis

Options :
Westerly winds

. Thermal inversion

[

. Deforestation

o)

. 8 Cattle grazing

Question Number : 119 Question Id : 269 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The term used for armed rebellion against a constituted authorityis
Options :
Lo Insurgency

, & 1errorism
. & Naxalism

., Coup

4.

Question Number : 120 Question Id : 270 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The treaty of Versailles was sighed in the summer of 1919 with
Options :

.~ Germany
, w Austria

. Turkey
., Hungary

4.

Question Number : 121 Questiop. . o



About 30% of the ‘Great wall of China’ has recently been found to have disappeared dueto
Options :
, » JustNatural causes

,  Global Warming

- » Natural disasters
i Natural causesand theft of bricks for building houses

Question Number : 122 Question Id : 272 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Is Virusa living being?

Options :

- Yes, because it has DNA

, » No, because it does not possess the machineryto duplicate itself

; « Yes,becauseitcan divide toreproduce wheninside aliving being

Lo No, because its coat ismade of Protein

Question Number : 123 Question Id : 273 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

What does a plant do with the sugar it makes?
Options :

, » Usesitup completelytogetenergy foritssurvival

- Storesitin itsroots
. Convertsitinto starch
.« otoresitfor herbivorestofeedupon

Question Number : 124 Question Id : 274 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which out of the followingisinall casesa hereditarydisorder

Options :
, « Thallasemia

,  Diabetesmellitus

5 « Tuberculosis

Anaemia

LS - y
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Question Number : 125 Question Id : 275 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The latest Nobe| Peace Prize was awarded to two people, a man and a
woman. To which countries do they belong?

Options :

, » China

_Indiaand Pakistan
o
. » USandGreece

. « Indiaand Indonesia

Question Number : 126 Question Id : 276 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Who is Dalai Lama and where doeshelive?
Options :
. Tibetan Spiritual leaderlivingin Dharamshala, Himachal Pradesh

,  Buddhistmonklivingin Tibet

- « libetanrebelfightingthe Chinese
L Religious|leaderfromTibetliving in Kushalnagar, Coorg

Question Number : 127 Question Id : 277 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In the geography class students were confused regarding the difference between climate
and weather. Four of the students gave fouranswers. Which oneis the correct difference?

Options :
Climate is the sum total of variation in weather in an area whereas

. » weather is the state of atmosphere over an area.

, » Climate and weatherare synonymous

Climate is the sum total of weather conditions over a large area for a
long period of time and weather is the state of atmosphere over an

. . areaatany point of time.

Climate isthe duration of seasonsin a large area and weatherreferstoseasonal changes

ina small area.
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The tournament thattakes place in Roland Garros in Parisis associated with
Options :
.« Lawntennis

& Tabletennis
% Basket ball
» Bowling

2

A

W

Question Number : 129 Question Id : 279 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which isthe national sport of India?
Options :
.« Cricket

., « Foothall
- Hockey

. » Kabaddi

Question Number : 130 Question Id : 280 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Where would you place vinegarif you were toshow its pH on a scale showing pHfrom 1 to 8 to?

Options :

, o Leftof7
, & Rightof?
4 2 ONng

Question Number : 131 Question Id : 281 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Agelisa
Options :

.« Suspensionofasolidina liquid

, « ouspensionoftinyliquiddropletsinanotherliquid

. « @astrappedin aviscousliquid

4 « Gas trappedin asemi-solid




Which out of the following is incorrect regarding Lok Sabha?
Options :

.« 530 membersare elected from states

, » 20 membersare elected from UnionTerritories
3
2 members from AngloIndian community are elected by the community

2 members of Anglo Indian community are nominated by the Presidentif thereisno

memberfrom the AngloIndiancommunity

Question Number : 133 Question Id : 283 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Some salts we use in the kitchen for cooking are givenbelow butoneis erroneously
mentioned. Identify it
Options :

.« Sodiumchloride

, & Sodiumbicarbonate

- Calcium Phosphate

. Monosodium glutamate

Question Number : 134 Question Id : 284 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

When motherwas heating the oventoa certain temperature for baking acake, the

daughterwanted to knowthe difference between heatandtemperature. In mother’sresponse
which one statementwasincorrect?

Options :

Heat isa form of energy and temperature measures how hotsomethingis

, « HeatismeasuredinJoulesandtemperature indegree Celsius (°C)

5 « Heat andtemperature both flow between temperatures

.8 When heatenergy flows, temperature increases or decreases

Question Number : 135 Question Id : 285 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33




Read the poemwritten by a child.

Plants will always grow

Wind will always blow

Solarcellswill give electrical energy

Waves forever will make energy
Aboutwhatdida child write inthe above poem?

Options :

, «~ Renewableenergyresources

.. Nonrenewable energyresources

M

« Energyresources of all kinds

L

.. Principle of conservation of energy

Question Number : 136 Question Id : 286 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The colourof an objectisthe colourit reflects. Soared boot
|dentify the wrong statementamongthe oneswritten below.

Options :

. looksredinwhitelightasit reflectsred and absorbs all othercolours

1.
redinredlightasit reflectsredlightfallingonit

-

. looksblackingreenlightwhichitabsorbs

W

, o redingreenlightwhenthereisnoredlight

Question Number : 137 Question Id : 287 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which of the following statements regarding international trade is
true?
Options :

L@ Higher exchange rate makes country’s exports cheaper

, » Higherexchange rate makes country’simports cheaper
Lower exchange rate makes country’simports cheaperin domestic markets

~ Lowerexchange rate makes country’s exports cheaper
4 W
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Question Number : 138 Question Id : 288 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The main cause of balance of payments (BoP) deficit in developed free
market economies is

Options :

, v Lessdemand forcountry’s exports
. = Lessdemandforcountry’simports

Rising demand for country’s exports

Kk

. « Recurring Political instability in the country

Question Number : 139 Question Id : 289 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Which democratic country hasan unwritten constitution?
Options :

United States

, « England

. & India

, » Canadaand America

Question Number : 140 Question Id : 290 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

If the Gross DomesticProduct (GDP) of a countryishigherthan Gross National Product
(GNP), then

Options :
The total production by national and foreign individuals within the
geographical boundaries of a country is lower than produced by its
|« Citizens on its land or foreign soil

2
Net payment outflowto foreign assetsis greaterthan netincome inflow fromassets

abroad
The strength of the country’s basal economy is less than economic
. » strength of the nationals of the country

_ Netpayments outflowislowerthanincominginflow

Question Number : 141 Question Id : 291 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33 I S e R T R R e ) I 5/




SabnamintroducedVipul as the son of the only daughterof the fatherof her uncle.
VipulisSabnam’s

Options :

, % son

, & uncle

5  brother

. hephew

Question Number : 142 Question Id : 292 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The firsttwo numbersonthe [eftof thesign )" are related inacertain way. The
same relationshipholdsforthe second pairof numbers onthe rightside of the sign ;i of
whichoneis missing. Find the missing one fromthe alternatives.

6:42::9:7
Options :

Lo 90
. 87

2

Question Number : 143 Question Id : 293 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The two words on the leftside ofthe sign ;)" are relatedin a certain way. The same
relationship holds for the second pairof words on the right side of the sign ;" of which one
is missing. Find the missing one fromthe alternatives.

Water: Filter:; Movie: 7
Options :
, & Actor

_ « Theater
. ¢ pirector

4 Censor

Question Number : 144 Question Id : 294 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33




SevencarsP, Q, R, S, T, Uand V are keptin an exhibition. Qisto the immediate
right of U. Uisfourthto the rightof V. P is betweenRandS. V whichisthirdto the [eftof Sis
at one of the ends.

Whichis correct positionofthecar T?

Options :

itisinthe middle
itis fourthtothe leftof S

s « itisatoneof the ends

., o tisnexttoV

Question Number : 145 Question Id : 295 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Arrange the following words in a meaningful logical sequence and choose the

appropriate numbersequence fromthe alternatives.

1. District 2. Nation 3. Marriedcouple 4. State 5. Village 6. Family
Options :

5635142
. 3,651,472
_ s 3,651,24
. 635412

Question Number : 146 Question Id : 296 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The numbersineach group are related ina certain way. Choose the correct number

fromamong the alternativesthat will replace the question mark,
(13[22]31) (15[33]51) (17[?]169)

Options :

, 38

Question Number : 147 Question Id : 297 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

In a certain language, ‘273’ means ‘leavesare green’; ‘5426 means ‘greenisa color’;
and "9524" means ‘coloris bright green’. Which digit means ‘bright’ inthatlanguage?

Options : A EE— )
- E s R T T ) o




2

5.0 9

5

Question Number : 148 Question Id : 298 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

If BACKWARD' is coded as ‘DBARACKW, then ‘"HANDLING' would be coded as:
Options :

. GHANINDL
_ 5 GHANNILD
_ . GHANINLD
. » GHNANILD

Question Number : 149 Question Id : 299 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

Starting from his house, Mohanwalks 10 km to the South; turns left and walks 12
km. He turns rightand walks 5 km. Finally he turns right and walks 20 km. How far is he from

the starting point?
Options :

% 15 km
:,yj.?km
i 23km
27 km

1

.2

Question Number : 150 Question Id : 300 Question Type : MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.33

The numbersinthe matrix given below follow a certain trend row-wise and and/or
columnwise, Study the trend and choose the numberwhich will replace the question mark?

5 4 7

14 25 9
12 ? 5
Options :
v 49







